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E. For a new highway, assuming that the base year ADT = 20,000 and the design year

ADT = 32,000, K=15%, D=65%, Vd=100 kph, PHF=0.88. The traffic stream
consists of 15% of trucks, 10% of trailers, and the remaining proportion is for
passenger cars. Assuming that the passenger car equivalents are 5 and 8 for
trucks and trailers, respectively. The maximum service volume (MSV) at level

of service (LOS) = B is 1,300 pcu/hr/In. Please determine the adjustment factor

for heavy vehicles (fn,) and the total number of lanes in both directions. (8%)
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Short Answers or the full name of an organization:
(1) How to determine the DHV?

(2) AASHTO

(3) FHWA




